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1. In which of the following country, petrol pumps are considered as a lower order
function?

a. United States of America b. India

c. China d. Venezuela

2. Which of the following occupation is mainly concerned with the rural
settlement?

a. Agriculture b. Livestock rearing
c. Catching fish a. All of the above

3. Which of the following factor affect the inhabitation of rural settlement?
a. Water supply

b. Availability of fertile land for agriculture

c. Building material

d. All of the above

4. Which of the following places are considered as ‘dry points’?
a. River terraces and levees

b. Low lying areas of river banks

c. Islands surrounded by swamps

d. None of the above

5. How the inhabitants of Loess region in China build their houses?

a. By uncooked bricks b. In caves

c. With the twigs and branches of trees d. With sand

6. In which of the following country, Inselbergs provide better location for
settlements in terms of security?

a. Zimbabwe b. China

c. Nigeria d. Egypt




7. Which of the following possessed a good example of human inhabitation that is
provided by Government on acquired lands?

a. The scheme of villagisation in Ethiopia

b. Canal colonies in Indira Gandhi canal command area

c. Development of settlements in Noida and Gurgaon

d. Only (a) and (b)

8. Which of the following factor affects the shape and size of the village?

a. Size of the village

b. The surrounding topography

c. Terrain

d. All of the above

9. On the basis of shape Y shape settlements are found in which of the following
places?

a. On crossroads

b. Where two roads converge on the third one

c. On the edge of those roads that cut each other on right angles
d. Where many roads converge

10. Which of the following problems are very often found in the villages of
developing countries?

a. Inadequate supply of water

b. Water borne diseases such as cholera and jaundice tend to be common
problem

c. the general absence of toilet and garbage disposal facilities

d. All of the above

11. Which one of the following forms of settlement develops along either side of
roads, rivers or canal?

a. circular c. cross-shaped

b. linear d. square

12. Which one of the following types of economic activities dominates in all rural
settlement?

a. primary c. secondary

b. tertiary d. quaternary

13. Classify rural settlement on the basis of setting, functions and forms or shape
of the settlement.

14. Discuss the problems of rural settlement in developing countries.



